Name:

show all of your work for full marks.

1. Factor each potynomial.

a) 94*+124°

c) 25x°y+15x*y® —30x?y?

5x*y (5x +3x*y* - 6y )

2. Factor each trinomial.

a) £ +10r+21 2

. —+__ = 10
(£ +T1 )N E+2)

c) 35-12x+x°

¢ = 35
x? —12x +35 o =-2
(X-I1NxX=-5))
2
e) s —345+33 P
— . =-3Y
(s—n})(s-sa)

Mrs. Donnelly.

Chapter 3 Practice Test — Products and Factors

b) 3x*+6x"

3x2 (1 +2x")

d) —4r’s* +12r%s* —36rs*

-4rs*(r-3rs+9)

b) v -1lv+24 —— » — =
—_—r — =-1
(v—a)(v—a)
d) ¢*-2c-8 « __ : -8
— e =

f) 4p'-16b+128  o¢ "
-4 ~4 -4

-4(b*+ 4b-32) __ = "32

-4(b+8)(b-4%)

F&PC10



3. Factor each frinomial.

Q) 3x® +5x—2 (3)-2) = -b b) 6m*—Tm—-10 (6)(-10) = - 060
7 i K o
—4+__ =5 —t_— ="1
A +bx-Ix -2 bm?* - IZm;+ Sm -10
3y +2)-1(¥+1) bm(m-1) +5(m-2)
(x+2)M3x-1) (m-2)(bm+5)
o) 62 -21x+9  op" d) 24y -2y-70 (¥ "
2 % 5 2 2 7 (12)(-35) = -420
Xt - (2X3) = 6 ) . — % — = —%w0
s LS yt-y-35) T F T T
_ 4+ =71 _ '
. 1_9) -3G
3(2x"~bxj-—|x+3) 212y Z"/:"‘7’0)' 3S)
2(5y(4y-1)+5 (4y-1))
3(2)(()(-3)—!()(-‘5)) (Y( Y ( Y

@ 2(4y-1)(2y+5)

4. ldentify whether the following polynomial is a perfect square trinomial, the difference of squares or
neither. Justify your answer. -
Nei+hor -

25x* —2637

25k = perfect squeart

Zbyl = _h_gj’ perfect squore

5. Factor each polynomial.

a) x* —64 drff. of b) 121x*-100y°

Squ areD
@ I =10y )(1Ix +10y )



c) 5w*-80
5 5  GCF

S(Wq-l(n) diff. of squore?:

diff of  5(wt-4)(w+Y4)
squants S

e) 16r2+8rt+t2 Per'k‘C" s%um

nomiald
(4r+£) "

6. Expand and simplify each expression.

a) (f +11)(f -6)
frobf+ 1If -bb

c) @x+59)"  rewrtte

(2x+ 5y W2x+ Slj)

4" +10xy +10xy + 25y

| 4x* +20xy +2Sy?
7. Expand and simplify @ach expression.

a) (2c-3d?)(4c+5d -1)

perkd square

d) 94* +48a + 64
Yinomial

1) 7507 -90a+21
% > 3

3(2500‘— 20a+9) perfect Squonre

W el .

b) (r=2)(r +9)

rt+9r - 2r-18

8c* + 10cd -2¢ - 12¢d? ~15d% + 347 } no ke derms

cannot simPla'Fj fur Hhe .



b) (2x—3)(1—2x)—(x—3)
mulhiply first
(2x-4x*-2+06bx ) —1(x-%)

-4x*+8x-3% - x + 3

c) x-8)+ 2@1)(x +7)

(X-8) + l(u-z)(,an ),
mmh'ply

(£-8) + ( 26ty 124 14)

X=8 + 2x* 4 12x —4

8. Identify and correct the error(s) in the following multiplication. Rewrite the correct response.

(Bg’ +4g-2)(-g"-g+H. b
= 3g*—3g> +12g* —4g'()4g* Bg +2¢° +2g@8

=3¢’ €k (92> €192@8 l

ﬁ__q_‘*'lq__q, 49" Hg %—8




